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Really, two is liable — 2971 2onw 2P

OVERVIEW

The X713 initially assumed since the Xn°72 states that the dispute between
X"awn and ¥ is in a case where the MY admitted to owing three; this should
indicate that if he admitted to owing (only) two he would be M5 from a
7312w, presumably because admitting two is considered 77°7; proving that
72°17 is wd. The &1 negated this argument and stated we can assume that
by two all agree that he is 211 a 7312w, since 72°7 is 2. The issue is if 2 nw
is 211 than how can ¥"1 maintain that w5 is 75, Our MHOIN explains this.

mMooIN anticipates and responds to the following question:
— 2N 0'NYT 2 YY IN)

And even though the X713 is presently assuming that 2°pw is 2977 a mnaw,
nevertheless -
— AN 2PYN NIPY 39 7Y YN
v'"7 considers him to be a 77752R 29" when he admits to w5w, even though he has
no V» that he could have said o°nw, for o°nw is also 21 a 7»aw. The reason he is
considered a 77°2X 2°wn is because -
20N TOVNY 29 1IN 9N AN DNV IINYIT

When he would say 2>nw, he would appear to 7"°2 more believable since

the "vw supports him, and nevertheless he claimed w9 that makes him a 77°28 2°wn
and he is 7y12wn Mwd.?

SUMMARY
¥"1 considers WHWw a 17°aR 2wn, even if 2°nw is 21, since by 2nw it is a
more believable claim.

! Usually by a 77ax 22w (or 1) we accord him the rights he would have if he was not 2w the 77°2K (or
he claimed the 17 n1yv); however here (¥"7 considers him a 777°2& 2°wn since he could have admitted only
to 0°nw; however) even if he would have claimed o°nw he would have to swear, why therefore should he be
7¥12wn Mwd when he admitted to wow?! [Alternately; n1oon may be asking if 2°nw is 2°1 (and ¥"1 considers
WYY to be a n7°aR 2'wn because he could have said o°nw), then why is this case (of wow R mM?) different
than any other case of nx¥pna 17, where we could equally argue, why should he swear; he should be
considered a 77°2% 2°wn, since he could have admitted (slightly) less than he is currently admitting. m»oin
answer would be that here there is an advantage in claiming 2°n¥ because W»on WWwiT; however by a
regular n¥p»a 7717 there is no difference in the level of his minXi regardless of how much he admits.]

2 According to the n"17 later in the X713 however, if 0°nw would be 21, then 5w would not be 7y12wn v
(even according to ¥"7), because of the concern that 2°7vn Xp »m7vX. See ‘Appendix’ for an tentative
alternate explanation
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THINKING IT OVER
mooIn claims that by 2°nw he is 1281 9n1°. Why did not m»doIn say that by
o°'nw he is saving a ¥50?!°

APPENDIX

In the case of a 13°» there 1s the actual 71vv and what he could have claimed —
the . The mvv, if it were believed, would afford this ¥ all the benefits
that the 13°» would have afforded; for instance in the 3°2 of 7177 1M "nyID
or 10IX17 13°n2 °n7na, the mwvw of Ny and "nAma would acquit him (if
believed) as much as 717 and 01X1. It is therefore presumed that the 71vv
cannot afford the ¥ more protection that the 1. In the case of 1312 °ny7d
a7, the Mo will collect with 0P against the mivw of °ny7o (just as he
would collect with 21°p by the 13°n of A"1); the m1vY of *nAMMT would require
a 712w, just as the 13°» of 1WIX1 requires a 7Y2W.

However by 717°2R 2°wn the actual 71vv obligates the 777°a8 2°w»n more than
the "3n' would have. Let us take the classical case of 7728 2°wn; the case of
QW PPN C1om vaw RY ARXn R¥wan. The X" is returning the wallet; the
owner claims there was money in the wallet. If we were to apply the
traditional 13 concept here, the 71vv of the X"n is, ‘here is the wallet (but no
more)’, and the 37" would be ‘there 1s no wallet at all’. The X"7» 1n his 71v0
is offering more to the owner (the wallet) than the 13 (which is nothing).
The rule concerning X"n is that the X"» does not swear the »"2n nyaw
because of 07wn NP n (and not necessarily because of a 1°n). It seems that
according to MdOIN a X"A 1s A¥2WNH MVD even if there were 2°7Y (and/or the
owner) that saw him pick up the wallet, where he does not have the 1 of
being 2"m>. He is nevertheless 02w 12°n 197 ~wo.* For if the 8"» would be
obligated to swear, no one will pick up mM72X because of the complications
that may ensue. The 77°28 2°wn is A¥2w» Mwd (even if there is no 1°n)
because he i1s giving to the claimant more than he is actually required to
give. He could have walked right past the 772X, and there would be no
monetary claim against him. He obligated himself where it was not required.
In our case where the m%n claims wnn and the M5 admits to w5w, there is no
W of o°nw if we assume that 2°nw is 21, for a 71vY has no more strength

3 See  MIX 7"910 ,0"w o"nn ,0"nn and A'"aR # 59.

*If there are no 0>7y that he picked up the 77°2K, then he is XN Mwd from a 7912w since he has a W of
5"715 (since PW32 o1 17°an PR there is no 1Y) and not merely because of 22wn 1p°n. See 191 17"7 'oIN R,
footnote # 4 and TIE >271 17"7 '01n2 X,7° M21n3 footnote # 8.
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than the 2. If the 1°n 1s 2°°1 a 72w (as we maintain now that 2°nY is 2°1)
then the mwv (of wWHw) is also 72w 21. However moown argues that ¥"
considers him a 1728 2°wn for he is paying an extra Y20 which he was not
obligated to, therefore he is a 77°2X 2°wn and 7y12W» 70D,

The question however arises how can we consider him a 7728 2°wn? By a
regular 77728 2°w»n he had the option of not picking up the item; however
here there was a claim against him; the mY» claimed w»n and had a "ww;
why should he be considered a 77°28 2°wn for the extra ¥90. He seemingly
could not ignore the claim of the m%»; especially that we now see that he
indeed owes him w5w. Can that be considered a 71728 2°wWn?!

mooIn explains that since Ww»on 0w and if he would claim 2°nw he would
be 781 707, therefore anything above o°nw is a 77°aX 2°wn. There is no claim
against him above 2°nw. He is giving more than he is required. No 3°n is
necessary; he is 115 because he is a 77728 20wn.’

The n"17 later in the X723 disagrees and claims that 77°28 2°wn is 7D only
when there are no ulterior motives. In the case of 772X 2°wn he is gaining
nothing by returning the wallet (over not returning it at all). However here it
1s not a pure 77°2X 2°wn» for he may have an ulterior motive; he does not want
to swear.6 YY1 792 2107 17NN OR2).

> This is included in the 29w 1P°N; people will refuse to be honest and pay what they owe if we require
them to swear. They would rather pay less.

% The 3 says he is not a 717°2X 2°wn since 0™yn Xp MYR (he has an ulterior motive). However the X n3
does not say that he is not a 77228 2°wn since there is no 2» (if 2°nw swears then Wow swears). The reason is
because if indeed he is a 777°2% 2°wn then a 13’1 is not necessary!

See the ®,n X3 concerning the suggested Mwd from a 732w by the 71vv of *>w °¥n, which the Xn3 refers
to as a 77°2X 2w (not 13°n). He is considered a 77°aR 2°wn because he is giving the other person half, where
it was not required. There is no 13 (of *%w 721) to exempt him from 7¥12W since *>w 7213 is also required to
swear. The argument was that he is a 772 2°wn. The refutation is the same as here; he is 0 yn Xp WK
(he has an ulterior motive).

However there is a difference between the X7n3 there (2w ;7°¥m) where everyone agrees that he is not a 2°wn
77aR (for 0w Xp M1R) and our X3 here (by 217 2°v90) where it is not so evident that all agree that he
is not a 7728 2°wn. In our X3 here the extra ¥70 is considered (by ¥"7) as a 77°aR 2°wn since the v of
D°nW is 181 701, however there the 71yv of *2w 7713 (over "W %) is not 181 7N and in addition there is
an ulterior motive, therefore there he is definitely not a 77°ax 2°wn.

In summation; in the category of 77°aX 2°wn (where one gives more than he is required to, and can attempt
to give less), there are three levels discussed here. a) The regular 7728 2°w»n who did not have to give
anything and has no ulterior motive for giving. He is 221971 172°n *191 av1awn Mo even if there is no won.

b) The 7728 2°wn of wHw niww (by 217 0°v70), where he had the option of offering only 00w (where he
would be 181 7nv) and nevertheless gave wow, he is (perhaps) considered a n7°ax 2°wn according to ¥"
even though he may have an ulterior motive. c) In the case of *?w 7°¥n where he is giving more; however
both claims (">w 7913 or ">w °Xn) are equal, and there is an ulterior motive, this is definitely not a 2'wn
77°2X and is Ay12w1a 201,
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